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1. BE AR AR (R E S ER) ELUT R -
HEE e BHHE t
a 2311 0.198 (A)
B 0982  0.163
R’ (B)
R’-adj
BEF= (O
zé;ﬁj:)? SEAR HEE h F
BB R 9.73 1 (D)
L’i‘fffk%**z E)
G 11.08 6
()FAETHE(A) ~ B)ZfH
(b)aE &5 AR =0 (DA x R BT s8 8 ~ y BIREE) |
(0)FAETHED) ~ (B)21H ;
(diFEE Hy:a=0; (BEKEa=0.05)
(e)iFtE Hy:a=p=0  (FEKEa=0.05)
[73#7]
HYE e gHE t P t*
a 2311 0.198 5 11.670  0.0001 2.5706
B 0982  0.163 5 6.014  0.0018 2.5706
R’ 0.8786
R’-adj 0.8543
JagRst 0 y=2.311+0.982 x
WEACR  FM HEE F P F*
LE*” 9.73 1 973 36.171  0.0018 6.6079
B 1.35 5 0.27
z!%n 11.08 6 a= 005
(a),(b),(c)
(A)=11.67 ~ (B)=0.8786 ~ (C)y=2.311+0.982x - (D)=36.171 ~ (E)=0.27
(d)
t=11.67>1,_ 1,5 s =2.5706 » $ELE H,
(e
F=36.171>F,_ 545 =06.6079 » {E4EH,
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2. Hb MYV TSR 2 JFAEE R - FEEE L MR
A B C D
F 4 6 6 9
z 8 6 7 6
] 10 7 11 10

(a)ifit BB SSE

O)EERRTE Hy: sy = g = the = p ° (BHE/KEa=0.05)

[5347]
A B C Y B ng | (SB)/k
FH 4 6 6 9 25 4 156.3
z 8 6 7 6 27 4 182.3
Gl 10 7 11 10 38 4 361.0
YA 22 19 24 25 90 12 699.5
ny 3 3 3 3 12
(ZAY/n, [ 161.3333 1203333 192 2083333 682
X2 A B C D e
H 16 36 36 81 169
Z 64 36 49 36 185
7 100 49 121 100 370
=Eil 724
BEOR P EEE R P F*
e 7.00 233 0.800 05376  4.7571
SR 24.50 1225 4200  0.0723  5.1433
B et 17.50 2.92
Y A 49.00 11 a= 005
(a)
SSE=17.5
(b)

F = 08 < Fa:O.OS,df=(3,6) = 47571 ’ ﬁ%ii?ﬁé@ HO °
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3. #t MR 2 FiaER CERER Sy =a+px )

X 1 3 4 7

y 2 5 6
(F T ENERSH P 2 G RE S
(b)sfa T E R 5 SSR
C)FaTEMET & ¢ ZEAREREE S, -
[ 3#r]
X y x> y? Xy
1 2 4 2
3 5 9 25 15
4 6 16 36 24
7 8 49 64 56
15 21 75 129 97
n= 4
SRR HlE t
o 1.600  0.702 2 2.278
B 0973  0.162 2 6.001
R’ 0.9474

R’-adj 0.9211

S y=1.6+0973 x

EEACR  SEAHM BHE  HEH F
] i B 17.76 1 17.76  36.007
s 0.99 2 0.49

sl 18.75 3

(@)~ ()~ (0)

B=0973 ~ SSR=17.76 ~ s, =0.702
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